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INTERNAL - EXAM-(2

B. Com. (Part IIT) EXAMINATION, 20 20

(Optional Group A—Finance Area)
Paper First

FINANCIAL MANAGEMENT

[ Maximum Marks : 75
[ Minimum Pass Marks : 25
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" Attempt all the five quedtions. One question from each
Unit is compulsory. All questions carry equal marks.

IE—1
(UNIT—1)
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“The goal of Profit Maximisation does not provide an
operationally useful criterion for measuring the success of
business operations.” Explain the above statement in the

context of the basic objectives of financial management.
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What are the various types of Financial Decisions ? Mention -
them and discuss each type of financial decision.

TR—2
(UNIT—2)
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Y 1 | 5,000 1,000
qq 2 4 4,000 2,000
af 3 3,000 3,000
¥ 4 - 1,000 4,000
qq 5 1 — 5,000
79 6 — ~ 6,000
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Two Projects A and B are before consideration of the

management of Torex Ltd. The particulars available are :

Particulars project Project
A B
Cost (in ?) 10,000 | 10,000
Life (in year) 4 6
Earning before depreciation : 4 3
Year | 5,000 1,000
Year 2 4,000 2,000
Year3 . 3,000 3,000
Year 4 1,000 4,000
Year 5 — 5,000
Year 6 — 6,000

Which project should be preferred ? Use unadjusted returm
on investment method.

Fer

(Or)
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Define capital budgeting. Discuss its objectives and

importarice.

P.T.O.
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TPE—3
(UNIT—3)

3. o fo 3 ot wiverr Pt 2 4
2000, 6%  ForH (o fAefFH) 100 T @l 2,00,000
1000, 7% Foma (R Frf) 100 7 a1 1,00,000
2000, 8%  wudt yaifrew s 100 2 T 2,00,000
4000 9 39 100 T T 4,00,000

gfceRa amg 1,00,000
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The capital structure of Shobha Ltd. in as under - 4

2000, 6% Debenture of T 100 each (First issue)  2,00,000
1000, 7%  Debenture of ¥ 100 each (Second .

issue) 1,00,000
2000, 8%  Cumulative preference shares of

T 100 each 2,00,000
4000 Equity shares of T 100 each 4,00,000

Retained earning 1,00,000

The earning per share of the company in the many years
have been ¥ 15. The shares of the company are sold in the

market at book price. The company tax rate in 50%. Find out
 the weighted average cost of capital.
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What is meant by Leverage ? What are the various types of
Leverages ? Explain clearly.

TPR—4
(UNIT—4)

ABC fo. @ Ry ® y@m « (r), {6t 31 A (k)
g UfY o o (E) @ Wy # fefied qEem Soere € -
fafT ® v @ R (r) = (1)15%, (i) 12%, (iii)i0% |
Tl @1 drTd (k) = 12%
ufd 3w s (E) = T 10
TRe=g Hied B FAT @wa gy e ARl & SR

R TS 9 & qea FEiRd DI -
D/P &UE (1- b) Re=H 3 urd (5)
(A) 100 0
(B) 80 20
© 40 60

The following information is available in respect of rate of
return on investment (r), the cost of capital (k) and earning

per share (E) of ABC Lid. :
Rate of return on investment (r) = (i) 15%, (i) 12%,

(iii) 10%.
Cost of capital (k) = 12%
Earning per share (E)=% 10
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Determine the value of its shares using Gordon’s model

assuming the following :
_ D/P Ratio (1 —b) Retention Ratio (b)
(A) 100 0
(B) 80 | 20
(©) 40 - 60
JRdr
(Or)
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What is the meaning of capital structure ? Explain the
theories of capital structure.

PR—5 .
(UNIT—S5)
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Compute Economic Order Quantity and Total Inventory
Cost from the following informations :

Annual Demand 5000 units
Unit Price 320
Ordering cost ¥ 16 per order
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Storage rate 2% per annum
Interest Rate 12% per annum
Obsolescence Rate 6% per annum
| I
Or) .
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Explain the meaning of working capital management.
Describe the various dimensions of working capital.

4,400
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